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Instructions . - . Check the question paper for fairness of printing. If here is any
lack of fairness, inform the Hall supervisor immediately.
. Use Blue (or) Black ink to write and underline and pencil to
draw diagrams.
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Carg gl TIPS,
Note - 1. Answer all the questions

. Choose the most suitable answer from the given four

alternatives and write the option code with the corresponding

answer



1. HLggiauf Yrsorarg Swellsmer sLss10snE CsbolshHéEh aulfl
- Y euifld HL_5560 9. ClFwsIflG sLGH6v
@3). < wHMID 2 B)TeTHID . Guphan Plwt 7g16y16lsVsmev
Channel protein adopts to transport ions by

a. Facilitated diffusion b. Active transport
c. BothAand B d. None of the above
2. SerrgMesr et L Glser 2 gafl yfldlarmer
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. 261 (h)(16yH 6016V

Clathrin coated pits assist in

a. receptor mediated andocytosis b. Exocytosis

c. phagocytosis d. diffusion
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9. GEBLLTensdGwimer <. O ®)
@3). Pluysefls dlsvid F. @HL_L_&meVLH 65T 61T
Absorption of amino acid requires
a. glutathione b. lipid
¢. nucleic acid d. Catecholamines
4. udl o_emriener L &@&Lb amriGiomesT
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@3). sremrig GrrGaservi_Gymssr . Guomigedlesr

Hormone helps to suppress our appetite is
a. ghrelin b. PYY
c. enterogastrone d. Motilin



5. Slenerssredlflev wmhmib TCA sHFAww Fenentd @ GBTd)

- SEpCHTemHCearery 3. PFK

@®). LDH . emuGeul yewant Crrlg Gerev
The enzyme that links glycolysis and TCA cycle is

a. glucokinase b. PFK

c. LDH d. Pyruvate dehydrogenase

6. yrrsssi GlGaragsT BlspCar®s Qariymw @amar@prs)
9. WAi_réared urevGui 9. @ewentEBTE Q
B3). g wiblesr . AL r&FBesT urevGuil_
The coenzyme involved in transamination is
a. pyridoxal phosphate b. Coenzyme Q

c. thiamine d. Pyridoxamine phosphate

7. ClarGésiul Herer o Hyi wHDID STreTsSheE QuTHSSwTeT aflenL ullener
CaibosHés
s pmi (A) : oplret sueriéfleng wrppsdd GDH oyerag apdsw UBISTOHDISDSI.
sryewrid (R) : gean L Gl gyerg ofiGarr gpuflevniseflsr oyufGerr CsT@glemw
STHGLW CFiwd s CFruduBAng!.
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For the given assertion and reason identify the suitable answer
Assertion : GDH plays a major role in nitrogen metabolism
Reason: Glutamate act as a sink for amino groups of amino acids
a. If both A and R are true and R is correct explanation of A
b. If both A and R are true but R is not the correct explanation of A
c. If Ris true but A is False
d. If both A and R are false.



8. @Qrss Carevevy rredleT @ueoLTsT Jjarey

9. <200mg/dL <. <250 mg/dL
@). <300 mg/dL m. >200mg/dL
Normal value of total blood cholesterol level is
a.<200mg/dL b. <250 mg/dL
c.<300mg/dL d.>200mg/dL

9. GarLrer QusHBureer ofiGarT lvgms GD&EDSI.
9. AUG <. AGG
3).GUA . GGU
The codon codes for the amino acid methionine.
a. AUG b. AGG
c.GUA d. GGU
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@3). svlilesflend . GLHHEITL. HMRTSSHILD
Liver failure and mental retardation are symptoms of

a. vongierke’s disease b. galactosemia

c. albinism d. calcium ions
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The correct match of the clotting factors and their names, is

I - | i) antihemophilic factor
I - | ii) fibrinogen

VIl | - | iii) Fibrin stabilizing factor
Xl | - | iv) prothrombin

a. i i iv iii

b. iii i i iv

c. i iv [ iii

d. | ii i iv
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9- DNP <. DTT
B8). swF® . Glrmig Gesrmesr
An uncoupler of oxidative phosphorylation is
a. DNP b. DTT
c. azide d. Rotenone
13.CGuri ys serepwwHD 5HE56060, FEUILTET 2 167 (b Neweawrdlmg.
9. QBT 9. aflener1GlLIT(HeT
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In uncompetitive inhibition inhibitor binds only to
a. enzyme b. substrate
c. ES complex d. active site

14. £ psaenT_supmier 618 eTAQL_16l5 Grmis
<. AIDS 9. FTHTT6ST F6if]
3).Griiler . NGers
Which one of the following disease is an epidemic disease?
a. AIDS b. common cold

c. rabies c. plague



15. 618l @ CermLyedletr GFmgemerrdosment wmiGLIwIT

9. VDRL Gsrgenesr 9. Fn L6V CFTHEM 6T
B3). Griflev CFrgemesr . Gareg CFrgen et
What is the alternative name for antiglobulin test?
a. VDRL test b. cooms test
c. rabies test d. koch test
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JGFemId Ymi aflaTTEEhdE allewLwelldhgab. aflerr stewr 24 &@ &L TwwTs
aflew_weflsas Ceussr(hid. 6x2=12

Answer any six from the following question. Question No. 24 is compulsory.

16. @)ewL_QuTHey oewwiiy wrFlMuller Gepmur® s wreneu?
What are the drawbacks of sandwich model ?

17. & CeVTen D& T T6ITHEIT 6TEITMITEV 6TEITET ?
What are chylomicrons?

18. 56msCaTOmefs HfCarT LAEVEISGST TETMTEL 6T65T6Er ?
What are glucogenic amino acids?

19.AST wrev aflewesrCeus wrHm&Iln 2 L L@ allsnarsener 5mHs.
Give the reaction catalyzed by AST

20. QurfQuwid g% @ U6 BlS@pLd rHDBISNeT 6T(LPSI%.
Write about post — Translational modifications.

21. o &0l Carhm pH)EE LIGTaTSSID 6TETHTE) 6T6TEE ?
What is redox potential?

22. 186 QBTHS $HSSHEV THTMITEL 6TEHT6T 7
What is irreversible enzyme inhibition?

23.CGpruflwev suswrwim).
Define epidemiology.

24. Q& reveivig e suripalih@ poHSwwreTg — Burwuiin®ssis.

Cholesterol is essential to life. Justify
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Answer six from the following questions. Question No. 33 is compulsory

25. #6uey eI gTEVSST LiH S &ML susnrs.
Write a note on membrane sterols.
26.Claruiyast Qsfssliu@sedls g Fflsr ukienas aflard s,
Bring out the role of bile in digestion of fats. ‘
27. 2_eisrewstr flensvuflsy defeymed sTeuuTm) &EHs5CHTHICWTE2fstv ClFweyenp S,
2 L u@&Eng?
During starvation how glycerol undergo gluconeogenesis.
28. 4G rGuesr sTeueurm) Blwrferrs wrHpUU@EDng?
How is tryptophan converted to niacin?
29. 915 5CymrevfefGrrdlsv unm) @iy euenyas.
Give an account on atherosclerosis
30. epevsan my 2 ullfwedlsit evowECam_ LT oL F(HEHLOTS 6T(LPSI%.
Write in brief about the central dogma of molecular biology.
31. gsviiesflesgleir susmasenar allaufss
Describe the types of albinism
32. Gougle seuny® Lreush QarsTensullssr FDLILbFRISmaT TIpS!5.
Write about the features of chemiosmotic coupling theory.
33.@&6’061?7@!&1@5667@ Blaap LuoGam) Ly sanar aflends@as?

Explain about the steps involved in phagocytosis.
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Answer all questions ox5=25
34. af GuorgGarrilsir sTRIS0 Senyae Qv upyl aflerd@s.
(Srsvevg)
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Write about the haemoglobin buffer system

(or)

List the functions of stomach

35. dlewersasredlFlav CFwsvepenmullsit ClsTL i aflewesEemear eTpHis.

(Ssvsvg1)

engGrmrdleir ereusurmy st BLUMeTTa wrHDHOLGEDSI?
Write the reactions sequences of glycolysis?
(or) -

How tyrosine is converted to epinephrine?

36. Qarapliy fleviiser o &fnGarhp ubH FHGELTES allarsEs.
(Ssvevgi)
YCrrGasGuirl Raer wpmib wsCasflwrsl HEafled Bl Iy $&Hau6
QumfliCluw g sefler QFwad WemmEmer CoumiiLB\SS!s.
Give an account on oxidation of fatty acids.
(or)

Differentiate between the process of translation in prokaryotes and eukaryotes

37.GLarseiv Cprullsit sryewTd wHmid P GDlsmer aflauflss
(Sysvevg)
ATP AbCxperdlsir augeusnioliy HyibFrsemer aflordds.
Describe the causes and symptoms of Tay — sach’s disease
(or)
Describe the structural features of ATP synthase.
38.Guri_ig$ seirewwujsirer b\d5606T &mbewg afleur
(Spevevg)
CleusiGaum uenSWITRT 2 1 DSTLILY CLPOBIGEMET R L susnaruilsd CaumLB 5515
Explain the concept of competitive inhibition
(or)

Differentiate different types of antibodies with a neat table.
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